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                     EASY
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Hint: Start with the fourth hint, and now you know the combination doesn’t contain any of those numbers. 
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                   MEDIUM
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Hint: Again, start with the clue that nothing is correct. Then look at the fifth clue, then look at the third clue.

	

































          

            
             HARD
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Hint: Clues 3 and 5 directly contradict each other, so clues 2, 4, and 6 must be true. Work from there to figure out which one of 3 and 5 are true.

               VERY HARD
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Hint: The numbers that would satisfy the last 3 clues are 1, 4, and 9. So you know that at least 2 out of the 3 numbers are either 1, 4, or 9 (but a number could be repeated). 
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Find the correct combination ‘ .

of 3 digits (0-9) given that
exactly one of the following
statements is false:

1. The product of all three digits D D D

is greater than 5 and less than 80.
2. The sum of all three digits is greater than 14.
3.The 1st digit is less than 4.
4. The 2nd digit is less than or equal to the 1st digit.
5. The square root of the 1st digit is an integer.
6. The square root of the 2nd digit is an integer.

7.The square root of the 3rd digit is an integer.
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This lock has a 3 digit code

Can you crack it
using only these hints?

One number is correct
and in the right place

One number is correct
but in the wrong place

Two numbers are correct
but in the wrong place

Nothing is correct

One number is correct
but in the wrong place
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The Code

000

Will you crack the code?

@@ E] One number is correct and well placed
@@] G] Nothing is correct

@[g] Twa numbers are correet but wroag places
@@ () one numberis corect but wrong place
m@ @ Ore number s correct but wrang place
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1. One of the other statements is false.

2. None of the digits are multiples of each other.

3. The 1st digit is 1 more than the 2nd digit.

4. The 2nd digit is equal to the 3rd digit minus the 1st digit.
5. The 2nd digit is greater or equal to the 1st digit.

6. The 3rd digit is even.




